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M. Com. (First Semester) Examination,
Nov.-Dec. 2019

Note ,_-"_é‘lﬂ"ﬁ"ﬂpf all the five questions. One guetion
' ﬁ'om each unit is compulsory. Each guestion

carries 4 marks,

Paper : Fourth |
T | | FEE-L
COST ANALYSIS and CONTROL Unit-I

* Time Allowed : Three hours
State the main objectives of Cost Accounting?

Maximum Mﬁrks : 50
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Note ; .{itinpt questions of all two sections as directed.
Distribution of, marks is given with sections.

3y
Or _
Iaiewd] % arEvie d T WA § 2

What is meant by absorption of overhead?
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(g I W) 5%4=20 -
(Short Answer Type Questions)
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Total cost of 1,000 units is ¥ 91,000. The normal

wastage in process is 10% and can be sold at # 10
per unit. Actual production is 910 units. Fina! out-net

profit due to abnormal gain:
areEt
_ Or .
"ures” ftere FeEEl S el & e g Wl S €19
el A gl 50 freinter ¥ 1 ww A F¥-25 fot aerdl &
A A% T 4 fga wmi E 17w <4 A 40 T
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Paras’ travel camp_any-runs 8 buses between two

cities 50 kilometers apari from each other. In the
month buses run 25 days and uomp!éte 4 trips pet
day. The capacity of each but is 50 passengers but
normally the buses are 80% full. Find out total

kilometers and total passengers kilometers.
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Unit-111

3. . IGR flo wgame ww W fEe w1 awe)

1 w-drg IQEE FE 1 ad 2019 vom @7 9w ¥
HiFe faer gFR —
I THRA W ¢ maﬂ;qm,‘maﬂ;-isn, Wi-300
A W ¥ 10 Wi T, wRedie sufemm v 2 of
TTe feet Suftera 2 30,000 wived, wirs @ faf
Eafk i ﬂIQ‘q’? wrr faan ar s

B.R.N. product Ltd. Barwaha producess one standard

type of modem show piece. Data for first three months

of the year 2019 are as follows :

Product in units : January 100, February 250, March
300. Prime cost ¥ 10 P. Unit, Variable overhead 7 2
unit. Fixed overhead ¥ 30,000 per year.

Prepare a statement of cost on the basis of Marginal
coﬁling.
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. w—ﬁﬁ?ﬁﬁi?ﬂl%?mﬁﬂkﬂlﬁmwﬁm%?

HAARY |
What 13 Break-Even Point? How is it determined?
Explain.

TEE-1V

Unit-iVv

. mm%mwm%?nﬁmmm

What do you understand by Flexible Budget? How is

it prepared?
A=
Or
AT st & Skwdl @ avh )
Describe the objects of Cost Audit.
-V
Unit-V

5, mrtrl,ﬁ T R = 176 (A), TA WA (SQ) = 49,

T T (CSP) =10, SR YTa (AP) =12 WOl
EP-1644 P10

http://www.ujjainstudy.com

wod Aprasurefn:mam,dny

wo Aprysurel/in:mmm/idny

. What

http:/fwww.ujjainstudy.com
|61 '

e 7 g IEm fawm 3| Fifau

Material Cost Variance = 176 (A), Standard Quantity

S = . '
(SQ) = 50, Standard price (CSP)=10, Actual Price

(AP) = 12, Calculate matenal price variance and

Mmaterial usage variance.
rgEy
Or
AR fa=eon fawdgy T 3 ¥

1S controllable and uncontroliable variapce?
|us-'y’
Section-*B’

(¥ 3=ifta wvw ) 5x6=30
(Long Answer Type Questions)

LA wﬁuﬁwﬂ'%mﬁﬁmmméﬁ.
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Note : Attempt all the five questions. One question

JSrom each unit is compulsory. Each question

carries 6 marks.
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6. IRGA I & srvimw 3 fafi vghi o

RLEIELY
Explain the different methods of absorption of factory
overheads.

3
Or

Feran =eramen e, feeeht FRE § 20,000 TEEA &
T F i Iuferg S Rl o @ E

FrEr sfEdTeis sufey ¥ 10 ofa 30
¥ 1,00,000 ® 5 ¥ v
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The overhead budyeted for the production of 23 24
EP-1644
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units in Shikha Nalwaya Mehta; Delhi factory are
fumished below,: '

Variable overheads-factory 7 10 per unit

Fixed overheaq - factory
¥ 1,00,000 ¥ 5 per unit

Selling expneses 109 fixed - % 10 per unit
Admn. Expenses ¥ 60,000 ¥ 3 per unit
Distribution €xpenses 20% fixed ¥ 5 per unit
¥ind out overhead cost for IG,IOUU.units and 12,000
units. '
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LRl ¥ 50,000 T 40,000
FREH TIEAY 60% WG Wl 75% Fogd
i 20 A 40 &
mﬁaﬁ 80 27 @PR + 25% 110 29 @A + 20%

ot e | iEel TR TS SRR EW AR Fe
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The product of Hiral-Tiya company passes through
two processes : 'A" and 'B". The produéi of the first
process, less wastage and by product, becomes the
raw materials for the second proces. All B_v products

arc sold off direct from the factory.

The following information is obtained from the factroy

records.
Process 'A*  Process '
Raw material ? 2,000 at ¥ 40 per ton - -
Wages T 50,000 ¥ 40,000
Factory overhead 60% of wages  75% of wagds
Wastages 70 Ton_ 2 Ten
EP-1644 PTO
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Sales of by products B0 Ton 110 Ton

at cost +25% at cost +20%
H

Prepare accoulnts

acounts and show

and the profit on 1

for process A and B product

the cost per ton at cach process
h_c salc of the by products
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9 wE a9 snfe ¥ 54,000 Wi O
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AL ¥ 1,80,000 9fd HIE | Tyres, tubes etc : Rs. 6,000 per month
et =1 fF0 ¥ 9,000 9ft 7E  Depreciation ~ Rs. 1,80,000 per annual
ot &1 FA 7 12,000 a7 1Tz ~ Caagerent Rs. 9,000 per month
e Bflam 2 60,000 91 T | Inrerest on capital . Rs. 12,000 per month
Mandsaur Golden Transport company maintain a fleet - Conenl Supervisi.an Rs. 60,000 per annual
of buses as follows i
No. of buses Capacity !f:r g eI -
= = Unit-111 =
10 SO Passengers cach a xy 8. STYH s e ;
8 50 Passengers each g g - -qﬁ“ . mﬂiﬂ . -r?ﬁlﬁﬂﬁga & for famt ’;’
Each bus makes four tnips in a day covering a distance % % m ﬂﬂﬁ. Eﬁlﬂl FA B~ %
of 50 kms on cach trip. On an average 80% of the Z > (2) Wa-forsde farg >
seals are occupied in cach trip. 5‘:" E‘-‘ (b) i 36 7 4 =y & form E‘
Assuming that the company operated its Heet 25 days g % (c) Fa5ha W 30% &y % farg g
in a month. Ascertain the operating cost per passengers
km. taking into account the following further il b %Fﬂ'«‘ﬁ T AH3, S @HR g e
information : T, Fefafes T—
Wages of 18 drivers (w Rs. 4,000 per month () T 10j000 swrdal 7 10 iy 7o
per driver (ii) ftadeie s 7 5 iy I
Diesel, oil et Rs. 54,000 per month (i) Ter | % 30,000
Repairs cte. Rs. 9,000 per month
_— | 1o .§ EP-1644
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The sales director Subodh N. of your concemn requires

- you to copute the sales volume in order to :

(a) Break-Even Point
(E) Make a Profit of Rs. 4 per unit
(c) Make a Profit of 30% of sales

The cost data of your firm as computed by the cost
accountant arc as below :

(i) Sales 10,000 unit Rs. 10 per unit
(ii) Variable cost Rs.'S per unit
(iti) Fixed cost Rs. 30,000
| 1o
Or

mmﬁmwwi’?wﬁww%?m
o wm #7

What is the technique of inter-firm comparison? Why
it is necessary? What are its limitations?
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i | ® 25
Wm“ﬁm ¥ 20 93 Td
PRERI @ F9fters 7 10 ¥ 397
e = g a—
fasra sufem (0% feem) ? 13 Wy T
fﬂmwﬁma(mcgﬁm) % 5 9ft T
fomto = (209 fem) ¥ 7 9fy T
F @ 2155
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The expenses budgeted for the normal. production of

1,000 units in Jyoti-Kiran factory are furnished below :

Matetial ¥ 70 per unit
Laboue T 25 per unit
_ _Variable m'e;ﬁeads factory ¥ 20 per unit

EP-1644
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Fixed overheads factory Z 10 per unit
Direct expenses % 5 per unit
Selling expenses (10% fixed) ¥ 13 per unit

Administrative Exp. (100% fixed) ¥ 5 per unit

Distribution Exp. (20% fixed) . 7 7 per unit

Total Cost - T 155

Prepare flexible budget to findout production cost for
800 units.

HAGAT
Or

armmvrﬁﬁlgﬁa ﬁmaaﬁrmmuﬁaﬁmmﬁ‘i
1 gui7 Fifear -

Describe the provisions relating to the appointment,

qualification and disqualifications of a cost auditors.

-V

Unit-V
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Define standard costing, Discuss "Material Variances®

and "Labour Variances" with references to it.

HYFy
Or

ﬁqﬁmﬂﬁﬁmmmﬁmﬁmaﬁm_

e
e T T
P 10 4 12 5
Q 20 6 18 .

From the following details, calculate all material

cost variances °

Material Standard Actuals
Qty. Price  Qty. . Price
P 10 4 12 5
Q 20 6 18 7
1,500]
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